< 00, > (M)

<op/p. > (70)

Ratio

<o @> (rad)
o
=
a1

o
[N

o
N

(k=]

0 1 2 3
TP n (PCA to beamline)

< o cot(y) >
o
=
a1

....................

....................

...........................

...........................

(k=]

0 1 2 3

TP n (PCA to beamline)

—=#— DQM_CKF_XiMinusPU_base

—— DQM_CKF_XiMinusPU_retrainOldFiles125_v2_prelimWPM_epoch2

100r

(k=]

0 1 2
TP n (PCA to beamline)

0 1 2 3
TP n (PCA to beamline)

.......

.......

.......

.........

..........

o
.........................
.........................
.........................
R ' | . [
........... 1
Ml IR | B P A
.......................
.......................

0 1 2

TP n (PCA to beamline)



	Contents
	Page 1


